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8. There are altogether 240 male 8. EEHE - kg BE2MOA -

members and female members in a Fa BAE14A— 1 5 5 584
fitness club. When every 14 male BTIN nFhe B HEIDA—
members form a group, there are 8 Mo mE o AL E? EAET
groups with 7 male members left. S B L A7

If every 12 female members form a
group, how many groups will there be
at most? How many female members
will be left?

A. 11 groups with O female A 1lg 880 A
member left

B. 11 groups with 1 female B 11# g8 1 A
member left

C. 10 groups with 11 female C. 10# » #f 11 A
members left

D. 10 groups with 1 female D. 10¢8 » 881 A

member left

9. What percentage of the above figure 9, meE ol LEME K7
1s white part?
A 50% A 50%
B. 62.5% B. 62.5%
C. 70% C. 70%
D. 82.5% D. 82.5%

BEHES(Z) (4he) 6
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